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Short answer questions/problems

1.  In class we discussed several alternatives to dividend payments if a firm has surplus cash.  Two actions we mentioned were increased capital spending and the acquisition of other firms.  Under what conditions would these alternatives be worse than dividends for the stockholders?  (Note:  you should be able to answer this question with a single sentence).
If the loss from negative NPVs for the projects or the acquisition exceeds the tax loss to stockholders for the dividend.

2.  What would be the main difference between a liquidating dividend and a special/extra dividend?
Liquidation ends the firm while a special/extra dividend is a one-time payment in addition to regular dividends.

3.  What is the fundamental reason that a firm’s bondholders lose to the firm’s stockholders whenever a dividend is paid?
Drop in assets available to cover debt payments.

4.  According to the signaling theory of dividends, what is the fundamental reason a firm’s stock price should rise when the firm unexpectedly announces an increase in dividend payments?
Investors revise expectations upwards.

5.  You have just purchased a stock on its ex-dividend date.  What are the implications of buying the stock on this particular date?
Will not get next dividend firm pays.
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Problems/Essays

1.  Assume that you have collected the following information about LOTR3 Inc.:  1)  LOTR3 has assets with a market value of $5 million and a book value of $2 million, 2) LOTR3 has outstanding debt with a market value of $1 million and a book value of $1.2 million, 3)  LOTR3 currently has 500,000 shares outstanding but plans to repurchase 50,000 shares at a price of $12 per share, and 4) you currently own 10,000 shares.
a.  If LOTR3 repurchases the shares via a tender offer and a total of 240,000 share are offered back to the firm, how does your wealth change as a result of the repurchase.  Note:  assume you attempt to maximize your wealth as you make your decision.

b.  If LOTR3 repurchases the share via transferable put rights by issuing one put right per outstanding share, what will be your net cash flow if you purchase an additional 5000 puts then exercise all of the puts that you own?
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2.  Assume you are considering investing in the stock of Strider Inc. and King Corp.  Strider is the riskier of the two and also provides the higher expected return.  Note also that the total market value of Strider’s stock is $5 million while the total market value of King’s stock is $95 million.  Finally, assume that the correlation between Strider and King is +0.25.  

a.  Sketch a graph of all possible risk/return combinations you could achieve.  Label this graph as “a”.

b.  Assume that you borrow $100,000 and invest these funds plus $300,000 of your own in the optimal combination of the two stocks.  On the same graph that you drew to answer part “a”, sketch and identify the return and risk you can expect to achieve.  Clearly label this part of the graph as “b”.
c.  Assume that just after you form your portfolio, King and Strider announce plans to merge.  On the same graph you used to answer parts a and b, show and then discuss whether this merger makes you better off or worse off.  Assume you will limit your equity investment to the new merged firm but will adjust your borrowing and/or lending to achieve the same expected return you achieved before the merger.
Description of graphs:

a.  Strider is above and to the right of King.  Possible portfolios is curve to left of the two points.  E(r) is the vertical axis and  is the horizontal axis.  

b.  Point on line on the line that extends from the risk-free rate through the point of tangency on the efficient set.  The point is to the right of the point of tangency.

c.  Combined firm is on the feasible set very close to K (in my graph this is far below the point of tangency).  The point you achieve is on a line that extends from the risk-free rate through this new merged point.  The new line should be below the original line.  The point you achieve is the same height as your original point (same expected return) but to the right (more risk).  

c.  (discussion) Merged firm is not the optimal point from the feasible set before the merger.  Thus to achieve the same expected return, must accept more risk (making you worse off).
3.  Gondor Inc. is considering investing in a new factory to manufacture agricultural equipment.  Gondor estimates that the risk of this new venture (as measured by either standard deviation of returns or beta) is less than its existing assets.  Specifically, Gondor estimates that the standard deviation on the new venture is 34% compared to the standard deviation on its existing assets of 52%, and Gondor estimates that the beta on the new venture is 0.4 compared to the beta of its existing assets of 1.3.  The cost to build the factory is $1 million today plus $2 million a month from today.  Gondor estimates that the net cash flows from the factory will be $53,000 five months from today.  After this initial cash flow, net cash flows are expected to continue monthly but are expected to shrink by 1% per month through 10 years from today (when the factory will close).  What is the impact of building the factory on the value of Gondor if the return on T-bills is 2% and the market risk premium is 6%?
 r = .02 + 0.4(.06) = .044
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4.  In class we discussed how stockholders are only affected by management decisions if the firm does something that the stockholders can’t accomplish (or undo) on their own.  Under perfect capital markets, Modigliani and Miller show that increasing a firm’s debt does not affect stockholders because the firm does not accomplish anything that the stockholders could not have done on their own.  Discuss which market imperfections (violations of Modigliani and Miller’s assumptions) related to the firm cause stockholders to benefit if the firm issues debt because the stockholders can’t duplicate the impact of the firm issuing debt.  Discuss also how these imperfections cause the stockholders to benefit from the debt.  
1)  Interest is tax deductible at the corporate level

=> as increase debt, taxes fall and the value of the firm rises

=> this benefits stockholders

2)  Debt helps resolve stockholder-manager conflict

=> takes discretionary cash out of management’s hands so won’t waste it

=> allows for concentration of ownership in management’s hands

=> keeps management’s feet to fire

=> all of these benefit stockholders

3)  May be stealing from existing bondholders

=> new debt must have same priority of claim as original debt to steal from original bondholders

=> new debt dilutes the claim of the original bondholders so the value of the original bonds fall

=> stockholders capture the benefit
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5.  Assume two firms are at present essentially identical except that firm #1 is run by an individual who has provided all of the funding for the firm while firm #2 is run by a professional manager who owns only a small amount of the firm’s stock.  Almost all of firm #2’s funding comes from external investors through stock and bonds that have been issued by the firm.  Assume that both managers act in their own best interest but that you don’t know which firm is which.  How could you tell which firm is which by observing the future decisions made by the managers of the two firms?  In other words, what differences would you expect to see in the decisions made by these two managers and how would you know which firm is which?  Note:  limit your discussion to those things that you can observe from outside the firm.
Key => external funding creates potential conflict between stockholders and managers and between stockholders and bondholders

Differences due to stockholder-manager conflict

1)  At firm #2, expect higher levels of pay and perks

=> management gets benefit while stockholders bear the cost

2)  At firm #2, expect firm to grow faster and larger because of higher levels of capital spending and acquisitions

=> some benefits of size go only to managers and not stockholder

3)  At firm #2, expect compensation package to include more options, stock, and/or bonuses

=> these help align stockholder and managers interests

4)  At firm #2, expect the firm to pay more dividends

=> increases chance that firm with have to raise external funding in future

=> potential for monitoring when issue external securities resolves stockholder/manager conflict today

Differences due to stockholder-bondholder conflict

Key => assumes that stockholder-manager conflict resolved

1)  At firm #2, expect the firm to undertake more high-risk projects

=> stockholders get upside while sharing the downside with bondholders

Key => bondholders have a fixed claim while stockholders have limited liability and a residual claim.

2)  At firm #2, expect more dividends to be paid

=> stockholders get the entire dividend but stock price drops by less than dividend

=> key => bond values also drop due to fewer assets backing up debt
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6.  Shire Again Inc. is considering building a new facility to process grains.  Based on the following information, estimate how the value of the facility to the firm is affected by the ability to sell the new facility if sales don’t materialize.  
	
	Facility
	Existing assets
	Outstanding Stock
	Outstanding bonds
	S&P500

	Market value of cash flows
	400,000
	5,300,000
	4,100,000
	1,200,000
	NA

	Book value of assets/Cost
	350,000
	2,050,000
	1,050,000
	1,000,000
	NA

	Std. Deviation of returns
	53%
	48%
	68%
	16%
	23%

	Beta
	1.2
	1.1
	1.6
	0.3
	1.0

	Final/terminal cash flow
	0
	0
	NA
	3,000,000
	NA

	Maturity date
	10 years
	12 years
	NA
	9 years
	NA


Additional information:
1)  Assets associated with the new facility can be sold any time over the next 5 years for $100,000

2)  The new facility would be funded with $100,000 of cash, debt that matures in 9 years for $300,000, and by issuing common stock.

3)  The only payments made to bondholders are at maturity.

4)  The return on Treasuries varies by maturity as follows:  1-month = 0.63%; 1-year = 1.27%; 5-years = 3.33%; 9-years = 4.15%; 10-years = 4.25%; 12-years = 4.52%.


[image: image14.wmf](

)

(

)

9028

.

1

5

53

.

5

2

53

.

0333

.

000

,

100

000

,

400

ln

2

2

1

=

´

´

÷

÷

ø

ö

ç

ç

è

æ

+

+

÷

÷

ø

ö

ç

ç

è

æ

=

d



[image: image15.wmf](

)

718

.

0

5

53

.

9028

.

1

2

2

=

´

-

=

d



[image: image16.wmf](

)

(

)

(

)

70

.

809

,

323

76424

.

0

000

,

100

97128

.

0

000

,

400

5

0333

.

0

=

-

=

´

-

e

C



[image: image17.wmf](

)

98

.

8471

000

,

100

000

,

400

70

.

809

,

323

5

0333

.

0

=

+

-

=

´

-

e

P


Final Exam; F4360; Thursday, Dec. 11th, 2003; page 7 of 7
7.  Suppose your firm has just undertaken a major project that nearly doubles the size of the firm.  The CFO of the firm has just come to you and asked you to determine the extent to which the expansion has been a success.  Discuss how you would determine whether the project is successful and what information would you need in order to conduct your analysis.  Be sure to justify your answer.

Some ratios might help determine whether the expansion has benefited the firm.
1. Check to see if activity ratios have improved after project undertaken

=> measure whether or not project has helped or hurt efficient operation of assets

Improvements would be indicated by:  

1)  increase in total asset turnover
2)  increase in receivables turnover or reduction in average collection period
3)  increase in inventory turnover or reduction in days in inventory
2.  Check to see if profitability ratios have improved after project undertaken

=> measure whether or not project has helped or hurt profitability of operations

Improvements would be indicated by:  

1)  increase in net (or gross) profit margin
2)  increase in return on assets
3.  Check to see if market value ratios have improved after project undertaken
=> measure whether or not project has helped or hurt market expectations for firm
Improvements would be indicated by:

1)  increase in P/E ratio

2)  increase in market to book ratio

See if EVA for firm has risen

=> EVA provides a measure of profit that is consistent with cash flows and the time value of money
=> charges interest on any net spending not yet recognized for accounting purposes
See if stock price has risen (indicates market thinks project has benefited firm).

Information needed:  balance sheets, income statements, cost of capital, stock prices
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